Extreme Environment Astrophysics

Page 39 
Chapter 1 summary, point 11: should say "a few tens of light days" not "a few tens of pc".

Page 49 
P.49, Equation 2.22, the 'J 'should not be in the subscript. The equation should read:


Page 60 
At the end of Worked Example 2.3, the equation on the penultimate line should have 1.42 on the top line not 2.82. The answer is correct though.

Page 82 
The label on the y-axis of figure 3.10 should read 


. 

Page 95
The right hand side of Equation 4.2 should read 


.

 

Page 127 
In Exercise 5.6, in order to match the answer provided, part (a) of the question should ask for the Keplerian speeds at the outer and inner edges of the accretion disc, whilst part (b) should ask for the corresponding maximum Doppler shifts of the Hydrogen 


line.

Page 139 
P.139, second paragraph, the wavelength of the Lyman limit is 91.2 nm (or 912 Angstrom) not 912 nm.

Page 139 
In Figure 5.14, the text below the panels should say [image: image5.png]Ag = he/AFE,





.



and 
Page 151 
In the line immediately below Figure 6.5 it should say: "... as the change in momentum per unit time per unit area."

Page 162 
In the caption to Figure 6.12(c), the first term added to the curve should be [image: image7.png]




. 



not 
Page 179 
Exercise 6.10(b) should say "Use the expression for 


and Equation S1.1 (in the solution to Exercise 1.10 in subsection 1.4.1)...".

Page 198 
In the un-numbered question below Equation 7.30, the third sentence of the answer should read: "Equation 7.30 thus becomes 


."

Page 201
The equation in the line immediately above Equation 7.35 should read 


. 

Page 203
In the sentences immediately preceding Exercise 7.9, the expressions for the Lorentz factor of the decelerated flow should be thermal energy


and for the  generated should be 


. 

Page 208
In Equation 7.52 there should not be a factor of 'c' on the bottom line in order for the equation to be dimensionally correct in SI units. (As written it is correct if magnetic field is defined differently, and you may see this form in some textbooks.) The same erratum occurs when the equation is repeated in the chapter summary. Please delete the factor of 'c' in both places.

Page 227 
In the solution to Worked Example 8.1, towards the end of the first paragraph, the reference should be to Equation 7.31, not Equation 7.32.

Page 239 
In Figure 8.13(a), the value on the vertical axis given as -0.2 should be 0.02.

Page 244 
In Equation 8.13 replace 10-6 m-3 with 106 m-3, as given on page 233. 

Page 253 
The penultimate equation on page 253 in the solution to Exercise 1.6 should read:





The rest of the answer is correct.

Page 255
P.255, solution to Exercise 1.12, the last sentence of the penultimate paragraph should say: "The first is in the ultraviolet range, the second is in the classical X-ray range."

Page 267
In the solution to Exercise 5.3, the white dwarf radius should be stated as 107 m.

Page 270 
In the solution to Exercise 6.3, the units of cross-section (


) should be cm2 throughout, not cm-2. 

Page 272
In the solution to Exercise 6.5, in the penultimate equation (to calculate T), the exponent of the Boltzmann constant on the bottom line should be '-23' (not '23').

Page 274 
In the solution to Exercise 6.11(a), the calculation for the luminosity should read significant figures


. The final answer is still the same to two .

Page 276 
In the solution to Exercise 7.9, the given values of the parameters should include [image: image17.png]By =~ 9mec?(1— 1/V/2)





.



and 
The results of putting these into Equation 7.39 should then read





As [image: image20.png]







, we therefore have the efficiency is 
 

Page 278
In the solution to Exercise 8.6, the speed of light on the bottom line should be squared. The final answer is correct.

Equation numbers in Solutions to Exercises
The follow equation numbers in the Solutions to Exercises are all re-used mistakenly, having referred to different equations in the body of the chapter:

In solution to Exercise 1.10, the equation labeled as 1.17 should be labeled as equation S1.1

In solution to Exercise 2.5, the equations labeled as 2.18 & 2.19 should be labeled as equations S2.1 & S2.2

In solution to Exercise 2.8, the equation labeled as 2.20 should be labeled as equation S2.3 (but label not needed)

In solution to Exercise 3.5, the equations labeled as 3.21 & 3.22 should be labeled as equations S3.1 & S3.2

In solution to Exercise 3.9, the equation labeled as 3.23 should be labeled as equation S3.3 (but label not needed)

In solution to Exercise 6.10, the equations labeled as 6.24 & 6.25 should be labeled as equations S6.1 & S6.2 (but labels not needed)

In solution to Exercise 7.10, the equations labeled as 7.26 & 7.27 should be labeled as equations S7.1 & S7.2 (but labels not needed)

